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EXAMPLE : (1)
. S B sanall g Al sl ClLleY) Aas aeal | slaall adilal) s g e (200) Sk Gk

210




Solution

p%ﬁ‘é&d&a:%— 210 =4.7m
$a¥) e Juna = 2T 290 —42m
;my@&dm:““’%— 210 =3.6 m
;my‘é&dm=206.8+2207.2 _ 210 =3 m

1) geie = [(10x4.7) + 2 x; (2x4.7x4.7)| x50 = 4559 m?
(2) akia = [(1024.2) + 2 x (2x4.2x4.2)| x50 = 3864 m?

(3) ahia = (10x3.6) + 2 x-z; (2x3.6x3. 6)] x50 = 3096 m?®

(4) et = [(10x3.0) + 2 x; (2x3.0x3.0)| x50 = 2400 m®

4559 + 3096 + 2400 +3864 = 13919m3

EXAMPLE : (2)

AP Jaadl A g A il CiluiSiay) ApaS cama olis) adalall aua g yia (600) J sk 2
- el gl

Solution

10+30

32 480000 = 600 * 40 * = A il L) ana

720000 =2|* 600 * 40 * 30 * = jaall SLidla) paa



ULza 7200000= 10 * 720000 = _aadl <bidlay) 44l
_Hs 2400000= 5 * 480000 = 4l yilly cluddaY) 44l

U4 9600000 = 2400000 + 7200000 = Axilgl) 44l

EXAMPLE : (3)

| 103m —f
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| *s ho a v Ta ¥ Fa N\ ‘
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R A EATG DA EUPRITL SN N | I SO
Ga gl g sall Jial) aag U CY1(10)

. K3 (20000) = ( A= 10) daw cilicd g Li3(3000) =( am 25) o sl

Solution
2,73000 = 1000 * 7.3 * 10 = ulicy) 4gas

22103000 = 10000 * 10.3 = Llill guwaall dpag

Sactal) Ll Jaudisacisl)

Gkl Johb * gldi ¥ * = Al i) ey Ages




Fa11.3 =2%(0.25) *2 + 10.3 = ULdall 32 1dl)

A413.3=2%(0.75)* 2+ 10.3 = il solal)

32 61500 = 10000 * 0.5 * ~231153 - Gl ciludlay) dpas

331250 = 10000 * 2 * 0.25 * 0.25 *2 * — = &) jshual) (ULl

| =

3262750 = 1250 + 61500 = MY,

EXAMPLE : (4)

15 22 27 30 3.0

200 18| 22 |54

2.1 .
Compute the volume of

2.7 2.0] 21| 1.8 15

borrow pit shown in - 22| 18 27 o
the following figure below '
(the square area 5*5m) ? 15 21 30 27 15

Solution :
Volume of cut = A [Z e hz+:.2 hdta h4]

Zhl: [1.5+3+1.54+3+2.1+1.5]=12.6



Yh2=[22+2.7+3+2.1+1.5+1.8+3+2.7+2.1+

22. 71 =47.6

32h3 = [1.8-+22]= 12

Zh1= 2+1.84+224+2+2.1+1.8+2.2] =56.4

12.6+47.6+12+56.4

Volume of cut = 5*%5 [

.

Compute the volume of borrow
pit shown in the following
figure below .

(the square area 5*5m) ?

. A £ ganall 5 A il ClidlaY) AsaS aia]

75M°
= }:> 308.75

(1)oss)

27 30 3.0

ey 2B |. B o
3.0 1.8 1.5
314 D 1.8

(2) s
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